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print("key={0}, value={1}".format(key, value))
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print("sent={sent_bytes} recv={recv_bytes}".format(sent_bytes=s, recv_bytes=r))
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print("0S={0[0S]} WINDIR={O[WINDIR]} USERNAME={O[USERNAME]}".format(os.environ))
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print("Python v.{0.version} on {0.plathome}.".format(sys))
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print("Today is {0}-{1:02}-{3:02}.".format(year, month, date))
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print("Average: {0:.2f}"_format(calculated_avg))
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print("%s is a %s" % ("'This", "pen™))
print("Today is %04d-%02d-%02d." % (2010, 1, 1))
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print("Today is %s-%s-%s." % (2010, 1, 1))
TypeError: ...
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print("Today is %(year)04d-%(mon)02d-%(date)02d." % {"date":1, "mon":1, "year":2010}
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